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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following: 1x8=8
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(a) - Distinguish between primary data and
. secondary data.
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(b) Give an example of a study where
complete enumeration cannot be
undertaken.
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(c)

(@)

(e)

(9)

(h)
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Define ‘coefficient of variation’,

‘e el el firi |

Fisher’s index number is a weighted
index number, (Write true or false)
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What measure of central tendency is
uséd to calculate the HDI ?

HDI oIt =f4<te] @megln elgfes oot wief
BIEEIS I T
Define economic growth of country,
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Give an example of an informal financial
system participant.

weireifde el IR SetiRE 5t T
Azt :

What constitutes the primary sector of
an economy ?
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2. Answer any six from the following

questions :

2x6=12

SR AT B o e favel g

(@)

(b)

(c)

(d)

(€)

Distinguish between a parameter and
a statistic.
T SR lber Al &

How is the median calculated for a
continuous series ?

b1 IR Sif¥G TEn R Boiel w4 e

Why is index numbers said to be
economic barometer ?
o IR [ Lo i e 9o iz e

Define the term ‘sustainable
development’ as under the Brundtland
Report. :

‘Brundtland Report’ € #f#8 <z Sager
NI ke ey |

Mention tweo demerits of per capita
income as a tool of measuring
development of a country.
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What were the three basic indicators of
human development before 2010 ?

2010 F 7t Wiv1 T Y25 B A5 B
ofifize] 2 :
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() What is a financial system ?
faem 2zl o

(h) State the components of a financial
systeml.

e TR TR T A4 |
(i) Define GDP.
GDP= 7&! i |

() Differentiate between labour force
participation rates and workforce
participation rates.
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3. Answer any four from the following :

5x4=20
g “@ i) bIf<ER Tea T

(a) State one advantage and one limitation
of the arithmetic mean as a measure
of central tendency.

A contractor employs three types of
workers——skilled, semi-skilled and
unskilled. To a skilled worker, he pays
Rs, 500 per day, to a semi-skilled
worker Rs. 400 per day and to an
unskilled worker Rs. 300 per day. On
a typical day, if the contractor employs
15 skilled, 20 semi-skilled and 10
unskilled workers, find out the average
‘daily wage paid by the contractor.
2+3=5
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(b)

{c)
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Discuss the steps of construction of
consumer price index number.

A5 IE o AT O TN B T
40| -

State fwo limitations of price index
number.

Calculate price index number for 2020
from the following data: 2+3=5
7 Ay HEE B AT 774l | o o
P 2020-5 W< HoF AR Ficl 4l 8
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(d) What are the core values of economic 4. Answer any two from the following

development ? questions : 10x2=20 :
O RN = Rz ghre Tew e
ST U T e (@) Discuss the steps in a sample survey. |
. Elaborate on the stratified random
(¢) Briefly discuss the essential sampling method using suitable
components of human development. example. S+5=10
| aftevsf Hﬁﬁa@www@w@%ﬁ@%
T B TG AR bt <11 RIS TG i v w1 26
() Discuss the role of Purchasing Power (b) What are the different measures of
dispersion ? 2+8=10

Parity (PPP) in international finance, \
- Calculate standard deviation from the

SIeE o e e ER G e oy '(PPP]— following date :
3 Of el i < | foar Rfen Meicain & Rre oo wegg o)
e Roem simi 3= ¢
(@) How do banks Mmake profits ? Discuss.
Profit (Rs. Lakhs) 0-10 10-20 20-30 30-40 40-%0 50-60
T R o 7 (7N Gae)
icn : Gl % PE? RIS No. of Companies 12 17 23 39 16 03
I e

(h) What are the causes responsible for
(¢) Explain how Human Development

the unfavourable S€x ratio in India ? : : .
: Index is measured in India.

@WW%&WW@'W%%? Ww'm%wﬂﬁmﬁwza
et 3=

1 (Sem-2) ECO/G 6 1 (Sem-2) ECO/G 7 Contd.




(d) Discuss the functions of a financial
systeml.
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(e) Discuss the main features of the Indian
economy that indicate the low state of
development in the country despite the
impressive growth rates especially n
the last decade.

S Ree e SR Ifad T Ee
WWWWW&WW@T@E
HCTo < |

1 (Sem-2) ECO/G 8 13000




